SOCKET WELD TUBE ELBOW FLANGES

3181 TRI-PARK DR.

Model 1129 / 1131

GRAND BLANC, MI 48439

800-521-7918 810-953-1380 FAX 810-953-1385

Model 1130/ 1132

SAE J518 61 SERIES / 1IS06162-1 PATTERN
FLANGE TUBE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A B | C D E F Jmm H| K o No. | screw size | o-ring| W
1129-08-08M8 8.5 MKM 541 M8 x 50 210
1 1 1.75|2.12|1.44 | 1.500 | .688 | .50 .75 | .510 1.3
/2 /2 1130-08-08M8 M8x1.25
1129-08-12M8 8.5 MKM 541 M8 x 50 210
1 3 1.75|2.12 | 1.44| 1.500 | .688 | .50 .75 | .760 1.2
/2 /a 1130-08-12M8 M8x1.25
1129-12-12M10 10.5 MKM 542 M10 x 60 214
3 3 2.002.62|1.70 | 1.875| .875 | .75 .88 | .760 2.0
Y/a Y4 [ T130-12-12M10 M10x1.5
1129-12-16M10 10.5 MKM 542 M10 x 60 214
3 2.00|2.621.70 | 1.875| .875 | .75 .88 [1.010 1.9
/a 1 1130-12-16M10 M10x1.5
1129-16-16M10 10.5 MKM 543 M10 x 65 219
2.25|2.821.942.062|1.031 | 1. 1.00/1.01 2.7
1 1 1130-16-16M10 5|28 ° o6 03 00 Mutox1.5 | 1001010
1129-16-20M10 10.5 MKM 543 M10 x 65 219
1 2.25|2.821.94 | 2.062 | 1.031 | 1.00 1.00|1.260 2.6
1 1 1130-16-20M10 M10x1.5
1129-20-20M10t 10.5 MKM 4532 M10 x 75 222
1 1 2.75|3.19|2.40 | 2.312 | 1.188 | 1.25 1.25(1.260 4.6
1Va | 1Va |5 5020mi00 M10x1.5
1129-20-24M10t 10.5 MKM 4532 M10 x 75 222
1 1 2.75|3.19|2.40 | 2.312 | 1.188 | 1.25 1.25(1.510 4.4
1Va | 172 [ 5050 2ami0r M10x1.5
1129-24-24M12% 13.0 MKM 4533 M12 x 90 225
1 1 3.00 | 3.752.90 | 2.750 | 1.406 | 1.50 1.38(1.510 7.0
12 | 172 [ 500 M12x1.75
1129-24-32M12% 13.0 MKM 4533 M12 x 90 225
1 3.00 | 3.75|2.90 | 2.750 | 1.406 | 1.50 1.382.010 6.7
112 2 1130-24-32M12% M12x1.75
1129-32-32M12% 13.0 MKM 4534|  M12 x 100 228
3.50 | 4.00 | 3.40 | 3.062 | 1.688 | 1.50 1.622.010 9.9
2 2 1130-32-32M12% M12x1.75
MATERIAL:
Low Carbon Steel
O-Ring Style Companion Style
(Flat Face)
l— Kk —] | K ——]
1 : : '
| | ® N i c;)
A i $ {-':} [ DRILL-G ]
E — F +—+ F +—+
D /7 / | b= 4
o O
| i 777
D C TAP-J Cc

INFO@MAINMFG.COM

SAE J518 62 SERIES / IS06162-2 PATTER
[o] G
“cwe | s | wowsen | A|B|C|D|E|F IS K e e o] VT
1/ 3/a E;;g:iim: 2.00|2.22|1.46 [ 1.594 | .718 | .50 Msif’.zs 88 | 760 |im 541 M8 x 20 210 1.5
3/a 1 Eg;iiizmg 2.25(2.81|1.70 | 2.000 | .937 | .75 M118>i.5 1.00 1,010 | "KM 242 MLD x99 214 2.4
1131-16-16M12 12.5 MKM 2533|  M12x 75 219
i | 1 113216 1eM1a | 250|319 |2:21|2.250 | 1.093 | 1.00 ="~ 1.12|1.010 . —— 4.0
1131-16-20M12 12.5 MKM 2533|  M12x 75 219
i | 114 1132-1620M1 | 250|319 |2:21 | 2.250 | 1.093 | 1.00 [-=""—1.12|1.260 X —— 3.9
1141 | 114 ﬁ;igigmi 3.00 | 3.75|2.44 | 2.625 | 1.250 | 1.25 M112?<l10.75 1.38[1.260 | NM 278 | M12 X80 222 6.3
114 | 11> ﬂgizgi:mi 3.00 3.75|2.44 | 2.625 | 1.250 | 1.25 M1123<l10.75 1.38[1.510 | M 278 Mi2 x50 222 6.1
11/ 2 Eg;;ig;ﬂi: 3.50 | 4.50 | 2.96 | 3.125 | 1.437 | 1.50 M117€;>?2 1.62 2,010 KM 533 | MI6 x 100 225 10.1
2 | 2 [l f o] ke seiz| 7m0 | nso [ 250 o0 pong | MKMEs | M20xi20 [ 228 [,
@ Order Separately
® C'bore Depth by Pipe Size: 1/2" and 3/4" is .38"; 1" to 2" is .50"
NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts 13

© Copyright MAIN Mfg. 2017



